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M20550 Calculus IIT Tutorial
Worksheet 2

1. Find an equation of the plane passes through the point (1,1, —7) and perpendicular to
the linex =1+4+4t,y=1—t, z = —3.

2. Let £ be the line of intersection of the planes given by equations t —y =1 and z —z = 1.
Find an equation for ¢ in the form r(t) = ro + tv.

3. How many times does a particle traveling along the curve r(t) = (#* + 1,2t — 1,2 — 3t?)
hit the plane
2z + 2y + 3z = 37 What is the point(s) of intersection?

4. Let P be a plane with normal vector (—2,2,1) passing through the point (1,1, 1). Find
the distance from the point (1,2, —5) to the plane P.

5. Find an equation of the plane that passes through the point (1,2,3) and contains the

1
hnegm:y—1:2—z.

6. Find a vector function that represents the curve of intersection of the cylinder 22 +y? = 9
and the plane z +y — 2z = 5.

7. Give a vector valued function that describes the position of a particle that starts at the
point (0, 1) at time ¢ = 0 and then moves along the unit circle in the xy-plane clockwise.



